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B.Sc./B.Sc. (Hons.) Semester I Examination,
' Nov. 2022

ENVIRONMENTAL STUDIES

TiME ALLOWED : Two HOURS

Maximum Marks—: 70

All the parts of one question should be answered at one place
in the answer-book. One complete question should not be
answered at different places in the answer-book.

Attempt all questions.

TH 997 B I Ao

17 Muftiple choicel questions. Attempt all. Each question is of
1 mark. '
TERET 997 | At U B SR A Ide We 1
HF F ¥ S AR

(1) Who pioneered the concept of ecosystem?

(a) Hans Reiter (b) Ernst Haeckel
(c) A.G. Tansley * (¢) E.P. Odum
UIRAT B GHET B Yodn o ¢

@ T 4R ®) I T

(c) TS &= @ Ed. ey
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(i)

(iii)

(iv)

(v)
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Ozonosphere is threatened by :

(@) €O, (b) CO

(c). CFC (c) Above three
HSTToST BN G & :

(a) W SIESHTEFTRS

(b) HET AT

(©) FRIFARIBIET

(@) st

All the living organisms on the earth constitute :
(b) Biome

(c) Ecosystem () Community

T & Wl g s e s ¥

(a) Biosphere

(a) SEHvEw (b) IEH
(c) U= (d) wH=™E
In a pond ecosystem the food chain starts with :

(a) Phytoplankton (b) Zooplankton

(c) Aquatic insects (c) Small fishes
TS WRGT § @ e Rhed aoeT S B
(a) Ry < (b) g wE®

(c) ST B (d) B Fuelt

In which cycle do microbes play a major role?

(a) Sulphur cycle -

(b) Oxygen cycle

(c) Nitrogen cycle :

(c) Carbon dioxide cycle

ﬁwﬁ%%&rwﬁwsﬁ?ﬁa&qﬁ&hﬂ@?ﬁ;

g2
(a) BT TH

(b) AT H
(c) TEISW TH
(d) FHET LIRS TF |

(vi) India, from viewpoint of biodiversity, is a country.

(a) Ordinary

(b) Poor biodiversity
(c) Mega biodiversity
(c) Appropriate

Safafeerar @ ghe & ura o %QT T
(a) I | () s
(c) WEffEaT g ) SUgH

(vil) The _upper part of sea water mainly contains :

(a) Nektons only

(b) Planktons- only

(c) Nekton & Plankton both

(c) None of the above

WE B S A 9 o ¥

@) IFErE ) Wehd
() ﬁaﬁwaﬁmﬁqaﬁr (@) ¥ T

(viii) A natural biome is :

(ix)
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(a) Pond , (b) Grassland

(c) Cropfield - (¢) Forest

(a) dAE (b) o9 B Y=
() &q d) STw

Tundra is : _

(a) Grassland (b) Forest

(c) Desert (e) Aquatic Biome

3 Turn over




(x)

(xi)

TET -
(a) T & NI (b)
(c) H®EIA (d) mﬂusﬁzﬁn

Which of the following has maximum penetration?
(a) Alpha particle (b) Befa radiations

(c) Gamma rays (¢) X-rays

e 7 9 5w Rfew & S awar st &
T?

(a) SH HI (b) ter fafeRor

(c) T feei (d) TFg-feel

An international treaty regarding reduction of ozone
is: ,

(a) Montreal Protocol (b) Kyoto Protocol

©) Earth Summit . (¢) Rio Conference
T ¥ SfNiE & AT geM ¥ wfud gty
T

(a) Wf~Zad Wi
(c) o afwe

(b) TR Wi
@ = g9as

(xii) Record of wild-life related trade is known as :

(a) Traffic (b) IUCN

ﬁrsawfawﬁaﬁaﬁrmm%?

(a) 59 (b) 22 @
© 2 wad (d) 21 FT=R
(xiv) Which pollutant is likely to be present in effluent of
tanneries?
(a) Copper (b) Chromium

(c) Mercury (¢) Cadmium
TS G HREH & IeAE d DA IGh =
a‘?r FHEET 57

(a) HR (b) fHEA
(c) #HU (d) HefEm
(xv) Decibel is expressed as :

(a) - DB (b) Db

(c) dB (¢) db
Sdige e fhar S ¥

(2) DB (b) Db

(c) dB (c) db

(xvi) Which of the following biogeochemical cycles is

directly driven by sun?
(a) Phosphorus cycle

(¢) UNEP (c) All of the above (b) Nitrogen cycle

TISEl & AR g Afted ¥ (c) Water cycle

(@) 3fhd . () IUCN (c) Carbon cycle

(c) UNEP (d) ST dHI ﬁwﬁﬁaﬁwaﬁ%ﬁﬁ@‘ﬁwﬁﬁﬁm
(xiii) World Environment Day is held on : 2 -

(a) SiTime (b) 22 April (a) BIERRY T%h (b) EE W

(c) 2 Feb. ‘ (c) 21 Nov. (c) ST <k (d) HET TH
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(xvii) This much energy is transferred from one trophic level
to the next higher trophic level.
(@ 10 " () 25
© 50 © 90
T TN &R § T fhas gfaed St S e
TR % WHRA B8Rl 87

(a) 10 (b) 25

© 50 (©) 90 |
(xviii) The plants which can survive in high temperature are

known as : :

(a) Megatherm (b) Mesotherm .

(c) Microtherm (c) Hekistotherm

(a) T L (b) e

(c) WS | (d) Bfreiend

(xix) Chipko Movement is concerned with :
(a) Plant conservation (b) Project Tiger
'(c) Project Crocodile’  (c) Plant breeding
R s R wwfea &
(a) TEW BRET (b). TER T
(c) RIBEET UoFE () URT FAAA

(xx) Sequential changes in an ecosystem are known as :

(a) Fluctuation . (b) Homeostasis
(c) Succession () All of the above
TR ¥ W I Ak I&dd HeAl @

(a) SAR-IGE (b) AT

(c) STHAT (d) ST |
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2. Short answer type questions. Attempt any five. Words limit

100 words for each. Each question is of 4 marks.
TETOEE U9 | el q el T I iRt o i
100 91 | YAF U 4 bl & |
(i) What do you know about red data book?
T TR g% § AT FT FHIAA o2
(i) Describe food chain in an ecosystem.
. Ui § @ gEar § o9 #@r qEs 87
(iii) Describe the stratification of sea.
TAE & WABT Bl GOHEY |
(iv) Describe the energy resources of India.
IR & FHoll Al b ] A Fared |
(v) What are the causes of deforestation in India?
HRA H T b & BROT T §?
(vi) Define the ecological pyramids.
uiRitafis w0 & a9y |
(vii) What do you known about Environmental Education?
RRICEC Rl ) e L
(viii) What are the causes of drought?

@ & FROT AR |

. Essay type questions. Attemp any fwo. Words limit 500

words for each. Each question is of 15 marks.

Prereer w9 | B5E 2 aet & IR AR | SO T
15 3 & & | = QAT 500 973 |

(a) Classify natural resources and briefly describe the

renewable and non-renewable resources.
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SAENT FEeHl F IR F R ¥ awemEd
(b) - Discuiss briefly the flow 6f energy through an ecosystem.
TR & ot e A P %

.(c) Define biodiversity and describe t)>rieﬂy the cause of
biodiversity loss. | - _
SR # TR SR w@ Safafea S @
& T O H RER ¥ wWEd -

(d) Write an essay on ecosystem.

Ry W uF FEer Rl
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